SFomLEREFEFAREIV TR
(#ESZEBFT)

WHERA (WERLZEER

1F | 2 | 3F | 45F | 6F | 65 |2%F
=R 1,055 1,554 1,493| 1,305| 1,390| 1,434] 8,231
& mFEIIGEH 4,102 4,129] 8,231
XERFAEE 1 1 2
SEPENEHERBEESRE 1 1 1 1 1 1 6
cEEGNEREREESRE 1 1 1 1 1 1 6
HAP T A2ERZESSRE 1 1 1 1 1 1 6
SE 1 1 1 1 1 1 6
FHRARYEMRVREERE 1 1 1 1 1 1 6
HRIEmE 20 20 20 20 20 20 120
E=EE 100 101 101 101 100 101 604

(& ERFT)

1F | 2 | 3F | 45F | 6F | 65 |2%F
=R 3,356| 3,294| 2,797| 2,351| 2,056| 1,981| 15,835
& mFEIIGEH 9,447 6,388] 15,835
XERFAEE 1 1 2
SEPENEHERBEESRE 1 1 1 1 1 1 6
LEEGNEREREESRE 1 1 1 1 1 1 6
HAP T ALERZESSRE 1 1 1 1 1 1 6
SE 1 1 1 1 1 1 6
FHRARYEMRVREERE 1 1 1 1 1 1 6
MRIEmE 20 20 20 20 20 20 120
(EE 101 100 101 101 100 101 604

(RIZEEBFT)

1F | 2 | 3F | 45F | 65F | 65 |2%F
=R 16 17 21 25 23 30 132
& mFEIICEH 54 78 132
XERFAEE 1 1 2
SEPEFEHERBEESRE 1 1 1 1 1 1 6
CEPENEAEZEREESRE 1 1 1 1 1 1 6
cEEGNEREREESRE 1 1 1 1 1 1 6
HAP T ALERZESSRE 1 1 1 1 1 1 6
hREELCZERE 1 1 1 1 1 1 6
SE 1 1 1 1 1 1 6
FHRARSEMRVREERE 1 1 1 1 1 1 6
FERZEE 2 7 6 9 10 15 49
R EEE 5 1 6 6 5 6 29




